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NEW QUESTION 1
Administrative user accounts have been defined on the remote LDAP server and are unable to log in to the BIG-IP device.
Which log file should the BIG-IP Administrator check to find the related messages?

A. /var/log/secure
B. /var/log/messages
C. /Nar/log/ltm
D. /var/log/user.log

Answer: A

NEW QUESTION 2
A BIG-IP Administrator uses backend servers to host multiple services per server. There are multiple virtual servers and pools defined, referencing the same
backend servers.
Which load balancing algorithm is most appropriate to have an equal number of connections on each backend server?

A. Least Connections (member)
B. Least Connections (node)
C. Predictive (member)
D. Predictive (node)

Answer: B

Explanation: 
The same set of servers provides multiple services, that is, using different ports to provide different services at the same time. The stem requirement is based on
server connection balancing, not server + port, so it is node.

NEW QUESTION 3
A 8IG-IP Administrator configures a Virtual Server to load balance traffic between 50 webservers for an
ecommerce website Traffic is being load balanced using the Least Connections (node) method.
The webserver administrators report that customers are losing the contents from their shopping carts and are unable to complete their orders.
What should the BIG-IP Administrator do to resolve the issue?

A. Change Default Persistence Profile setting to cookie
B. Change Load Balancing method to Ratio (member)
C. Change Default Persistence Profile setting to sipjnfo
D. Change Load Balancing method to Ratio (node)

Answer: A

NEW QUESTION 4
A virtual server is listening at 10.10.1.100:any and has the following iRule associated with it:
when CLIENT_ACCEPTED { if {[TCP::local_port] equals 80 } { pool pool1 } elseif {[TCP::local_port] equals 443} { pool pool2 }
If a user connects to 10.10.1.100 and port 22, which pool will receive the request?

A. pool1
B. pool2
C. Non
D. The request will be dropped.
E. Unknow
F. The pool cannot be determined from the information provided.

Answer: D

NEW QUESTION 5
A BIG-IP Administrator sees the following error message in /var/log/ltm diskmonitor: *******; Disk partition shared has less than 30$ free
Which section of the Configuration Utility should the BIG-IP Administrator access to investigate this error message?

A. Statistics > Analytics
B. System > File Management
C. Statistics > Module Statistics > System
D. System > Disk Management

Answer: D

NEW QUESTION 6
A BIG-IP Administrator receives an RMA replacement for a failed F5 device. The BIG-IP Administrator tries to restore a UCS taken from the previous device, but
the restore fails. The following error appears inthe/var/log/itm.
mcpd [****J: •*****»;0; License is not operational (expired or digital signature does not match contents.)
What should the BIG-IP Administrator do to avoid this error?

A. Use the appropriate tmsh command with the no-license option
B. Revoke the license prior to restoring
C. Reactivate the license on the new device using the manual activation method
D. Remove the license information from the UCS archive
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Answer: A

NEW QUESTION 7
What is the status of a pool member when manual resume is enabled and a health check first fails and then passes?

A. Offline (Disabled)
B. Offline (Enabled)
C. Available (Disabled)
D. Available (Enabled)

Answer: A

NEW QUESTION 8
When configuring a pool member's monitor, which three association options are available? (Choose three.)

A. inherit the pool's monitor
B. inherit the node's monitor
C. configure a default monitor
D. assign a monitor to the specific member
E. do not assign any monitor to the specific member

Answer: ADE

NEW QUESTION 9
A BIG-IP Administrator suspects that one of the BIG-IP device power supplies is experiencing power outages.
Which log file should the BIG-IP Administrator check to verify the suspicion?

A. /war /log/daemon.log
B. /var/log/kern.log
C. /var/log/ltm
D. /var/log/audit

Answer: C

NEW QUESTION 10
A BIG-IP Administrator runs the initial configuration wizard and learns that the NTP servers were invalid. In which area of the Configuration Utility should the BIG-
IP Administrator update the list of configured NTP servers?

A. System > Configuration
B. System > Services
C. System > Preferences
D. System > Platform

Answer: A

NEW QUESTION 10
A BIG-IP Administrator is informed that traffic on Interface 1.1 is expected to increase over the maximum bandwidth capacity on the link. There is a single VLAN on
the Interface. What should the 8IG-IP Administrator do to increase the total available bandwidth?

A. Assign two Interfaces to the VLAN
B. Set the media speed of Interface 1.1 manually
C. Create a trunk object with two Interfaces
D. Increase the MTU on the VLAN using Interface 1.1

Answer: C

NEW QUESTION 15
The current status of a given pool member is unknown. Which condition could explain that state?

A. The member has no monitor assigned to it.
B. The member has a monitor assigned to it and the most recent monitor was successful.
C. The member has a monitor assigned to it and the monitor did not succeed during the most recent timeout period.
D. The member's node has a monitor assigned to it and the monitor did not succeed during the most recent timeout period.

Answer: A

NEW QUESTION 18
Which statement is true concerning iRule events?

A. All iRule events relate to HTTP processes.
B. All client traffic has data that could be used to trigger iRule events.
C. All iRule events are appropriate at any point in the clientserver communication.
D. If an iRule references an event that doesn't occur during the client's communication, the client's connection will be terminated prematurely.

Answer: B
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NEW QUESTION 22
A BIG-IP Administrator is conducting maintenance on one BIG-IP appliance in an HA Pair. Why should the BIG-IP Administrator put the appliance into
FORCED_OFFLINE state?

A. To preserve existing connections to Virtual Servers and reduce the CPU load
B. To allow new connections to Virtual Servers and ensure the appliance becomes active
C. To terminate connections to the management IP and decrease persistent connections
D. To terminate existing connections to Virtual Servers and prevent the appliance from becoming active

Answer: D

NEW QUESTION 26
To increase available bandwidth of an existing Trunk, the BIG-IP Administrator is adding additional interfaces.
Which command should the BIG-IP Administrator run from within bosh shell?

A. tmsh create /net trunk trunk_A interfaces add {1.3.1.4}
B. tmsh create/sys trunk trunk_A interfaces add {1.3.1.4}
C. tmsh modify/sys trunk trunk^A interfaces add {1.3.1.4}
D. tmsh modify /net trunk trunk_A interfaces add {1.3.1.4}

Answer: D

NEW QUESTION 30
You have created a custom profile named TEST2. The parent profile of TEST2 is named TEST1. If additional changes are made to TEST1, what is the effect on
TEST2?

A. All changes to TEST1 are propagated to TEST2.
B. Some of the changes to TEST1 may propagate to TEST2.
C. Changes to TEST1 cannot affect TEST2 once TEST2 is saved.
D. When TEST1 is changed, the administrator is prompted and can choose whether to propagate changes to TEST2.

Answer: B

NEW QUESTION 34
A site would like to ensure that a given web server's default page is being served correctly prior to sending it client traffic. They assigned the default HTTP monitor
to the pool. What would the member status be if it sent
an unexpected response to the GET request.?

A. The pool member would be marked offline (red).
B. The pool member would be marked online (green).
C. The pool member would be marked unknown (blue).
D. The pool member would alternate between red and green.

Answer: B

NEW QUESTION 39
An application is configured so that the same pool member must be used for an entire session, as well as for HTTP and FTP traffic.
A user reports that a session has terminated, and the user must restart the session. The BIG-IP Administrator determines that the active BIG-IP device failed over
to the standby BIG-IP device. Which configuration settings should the BIG-IP Administrator verify to ensure proper behaviour when BIG-IP failover occurs?

A. cookie persistence and session timeout
B. Stateful failover and Network Failover detection
C. Persistence mirroring and Match Across Services
D. syn-cookie insertion threshold and connection low-water mark

Answer: C

NEW QUESTION 44
Which event is always triggered when a client initially connects to a virtual server configured with an HTTP profile?

A. HTTP_DATA
B. CLIENT_DATA
C. HTTP_REQUEST
D. CLIENT_ACCEPTED

Answer: D

NEW QUESTION 47
The BIG-IP appliance fails to boot. The BIG-IP Administrator needs to run the End User Diagnostics (EUD) utility to collect data to send to F5 Support.
Where can the BIG-IP Administrator access this utility?

A. Console Port
B. Internal VLAN interface
C. External VLAN interface
D. Management Port
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Answer: A

NEW QUESTION 51
What is the purpose of floating self-IP addresses?

A. to define an address that grants administrative access to either system at any time
B. to define an address that allows either system to initiate communication at any time
C. to define an address that allows network devices to route traffic via a single IP address
D. to define an address that gives network devices greater flexibility in choosing a path to forward traffic

Answer: C

NEW QUESTION 53
An LTM device has a virtual server mapped to www.f5.com with a pool assigned. Users report that when browsing, they are periodically required to re-login to
/resources/201.1.7.b.2_l.com. The objects are defined as follows:
Virtual server. Destination 192.168.245.100:443 netmask 255.255.255.0 Persistence: SSL session persistence
Profiles: HTTP/TCP
Which persistence method should the BIG-IP Administrator apply to resolve this issue?

A. Source address affinity
B. hexadecimal
C. SIP
D. Destination address affinity

Answer: A

NEW QUESTION 57
Monitors can be assigned to which three resources? (Choose three.)

A. NATs
B. pools
C. iRules
D. nodes
E. SNATs
F. pool members
G. virtual servers

Answer: BDF

NEW QUESTION 61
If a client's browser does not accept cookies, what occurs when the client connects to a virtual server using cookie persistence?

A. The connection request is not processed.
B. The connection request is sent to a pology server.
C. The connection request is loadbalanced to an available pool member.
D. The connection request is refused and the client is sent a "server not available" message.

Answer: C

NEW QUESTION 65
You have a pool of servers that need to be tested. All of the servers but one should be tested every 10 seconds, but one is slower and should only be tested every
20 seconds. How do you proceed?

A. It cannot be don
B. All monitors test every five seconds.
C. It can be done, but will require assigning monitors to each pool member.
D. It cannot be don
E. All of the members of a pool must be tested at the same frequency.
F. It can be done by assigning one monitor to the pool and a different monitor to the slower pool member.

Answer: D

NEW QUESTION 69
Refer to the exhibit.
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An organization is reporting slow performance accessing their Intranet website, hosted in a public cloud. All employees use a single Proxy Server with the public IP
of 104.219.110.168 to connect to the Internet. What should the BIG-IP Administrator of the Intranet website do to fix this issue?

A. Change Source Address to 104.219.110.168/32
B. Change Load Balancing Method to Least Connection
C. Change Fallback Persistence Profile to source_addr
D. Change Default Persistence Profile to cookie

Answer: D

NEW QUESTION 74
A BIG-IP Administrator reviews the Plane CPU Usage performance chart and discovers a high percentage of Control Plane utilization.
Which type of traffic does this indicate a higher usage of?

A. Administrative
B. Tunnel
C. Accelerated ,
D. Application

Answer: A

NEW QUESTION 75
On the VCMP system, a BIG-IP host administrator imports a new ISO image into the host's /shared/images folder. The new ISO images that reside on the vCMP
host are available for installation on the guest. How should the BIG-IP Administrator install one image from within the guest?

A. Install the new software on the host and wait for it to automatically be installed on all guests.
B. Run the following command on guesttmsh install sys software block-device-image image_name volume < volume_name>
C. Run the following command on guesttmsh install sys software image image_name volume < volume_name>
D. Run the following command on hosttmsh install sys software block-device-image image_name volume < volume_name>

Answer: D

NEW QUESTION 77
All pool members are online. All other virtual server settings are at default What might after the load balancing behavior?

A. enabing SNAT automap
B. enabing a falback host in the http profile
C. adding a oneconnect profile
D. adding a persistence profile

Answer: D

NEW QUESTION 82
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Assume a BIG-IP has no NATs or SNATs configured. Which two scenarios are possible when client traffic arrives on a BIG-IP that is NOT destined to a self-IP?
(Choose two.)

A. If the destination of the traffic does not match a virtual server, the traffic will be discarded.
B. If the destination of the traffic does not match a virtual server, the traffic will be forwarded based on routing tables.
C. If the destination of the traffic matches a virtual server, the traffic will be processed per the virtual server definition.
D. If the destination of the traffic matches a virtual server, the traffic will be forwarded, but it cannot be loadbalanced since no SNAT has been configured.

Answer: AC

NEW QUESTION 85
A new BIG-IP VE is deployed with default settings. The BIG-IP Administrator completes the setup utility in the Configuration Utility. The internal self IP address fails
to respond to a ping request. What is a possible cause of this issue?

A. Port lockdown on internal self IP is set to Allow None
B. Route is NOT assigned to internal self IP.
C. Internal interface VLAN is set to untagged
D. Internal interface VLAN is set to tagged

Answer: D

NEW QUESTION 87
Which three properties can be assigned to nodes? (Choose three.)

A. ratio values
B. priority values
C. health monitors
D. connection limits
E. loadbalancing mode

Answer: ACD

NEW QUESTION 90
Refer to the exhibit.
A BIG-IP Administrator configures the Virtual Server to pass HTTP traffic. Users report that they are unable to access the application
What should the administrator do to resolve this issue?

A. Change the Virtual Server name
B. Disable .he State
C. Reconfigure the Source Address
D. Reconfigure the Pool Members

Answer: D

NEW QUESTION 95
The ICMP monitor has been assigned to all nodes. In addition, all pools have been assigned custom monitors. The pool is marked available. If a pool is marked
available (green) which situation is sufficient to cause this?

A. All of the pool member nodes are responding to the ICMP monitor as expected.
B. Less than 50% of the pool member nodes responded to the ICMP echo request.
C. All of the members of the pool have had their content updated recently and their responses no longer match the monitor.
D. Over 25% of the pool members have had their content updated and it no longer matches the receive rule of the custom monito
E. The other respond as expected.

Answer: D

NEW QUESTION 99
Assume a virtual server has a ServerSSL profile. What SSL certificates are required on the pool members?

A. No SSL certificates are required on the pool members.
B. The pool members.SSL certificates must only exist.
C. The pool members.SSL certificates must be issued from a certificate authority.
D. The pool members.SSL certificates must be created within the company hosting the BIGIPs.

Answer: B

NEW QUESTION 100
The incoming client IP address is 195.64.45.52 and the last five connections have been sent to members A, C, E, D and B. Given the virtual server, pool, and
persistence definitions and statistics shown in the above graphic, which member will be used for the next connection?

A. 10.10.20.1:80
B. 10.10.20.2:80
C. 10.10.20.3:80
D. 10.10.20.4:80
E. 10.10.20.5:80
F. It cannot be determined with the information given.
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Answer: C

NEW QUESTION 103
A BIG-IP Administrator is receiving intermittent reports from users that SSL connections to the BIG-IP device are failing. Upon checking the log files, the BIG-IP
Administrator notices the following error message:
ere tmm<instance>[<pid>]: 01260008:3: SSL transaction (TPS) rate limit reached
After reviewing statistics, the BIG-IP Administrator notices there are a maximum of 1200 client-side SSL TPS and a maximum of 800 server-side SSL TPS.
What is the minimum SSL license limit capacity the BIG-IP Administrator should upgrade to handle this peak?

A. 2000
B. 400
C. 800
D. 1200

Answer: D

NEW QUESTION 107
When configuring a Virtual Server to use an iRule with an HTTP_REQUEST event, which lists required steps in a proper order to create all necessary objects?

A. create profiles, create the iRule, create required pools, create the Virtual Server
B. create the Virtual Server, create required pools, create the iRule, edit the Virtual Server
C. create a custom HTTP profile, create required pools, create the Virtual Server, create the iRule
D. create required pools, create a custom HTTP profile, create the iRule, create the Virtual Server

Answer: B

NEW QUESTION 110
A BIG-IP Administrator is working with a BIG-IP device and discovers that one of the Interfaces on a Trunk is DOWN.
What is the reason for this Interface status?

A. The switch is NOT connected to the Interface
B. There is NO transceiver installed on the Interface
C. There is NO default route configured for this trunk
D. The media speed of the interface has NOT been set

Answer: A

NEW QUESTION 113
In the BIG-IP Configuration Utility, a user requests a single screen view to determine the status of all Virtual Servers and associated pool members, as well as any
iRules in use. Where should the BIG-IP Administrator instruct the user to find this view?

A. Local Traffic > Monitors
B. Local Traffic > Virtual Servers
C. Local Traffic > Network Map
D. Statistics

Answer: C

Explanation: 
Network Map can display vs and its associated pool, pool member, and irule, can be retrieved, and can be quickly linked.

NEW QUESTION 117
Refer of the exhibit.
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The 816-IP Administrator runs the command shown and observes a device trust issue between BIG-IP devices in a device group. The issue prevents config sync
on device bigip3.local.
What is preventing the config sync?

A. Next Active Load factor is 0 on bigip1.local
B. Both devices are standby
C. Next Active Load factor is 1 on bigip1.local
D. Time Delta to local system is 12

Answer: A

Explanation: 
Option A should be bioip3.local?. if choose bigip3.local, you should choose A.

NEW QUESTION 120
A 8IG-IP Administrator is making adjustments to an iRule and needs to identify which of the 235 virtual
server configured on the BIG-IP device will be affected.
How should the administrator obtain this information in an effective way?

A. Local Traffic > Virtual Server
B. Local traffio Pools
C. LOCAL Traffic > Network Map
D. Local traffic > Rules

Answer: C

NEW QUESTION 122
Where is connection mirroring configured?

A. It an option within a TCP profile.
B. It is an optional feature of each pool.
C. It is not configured; it is default behavior.
D. It is an optional feature of each virtual server.

Answer: D

NEW QUESTION 125
A virtual server is listening at 10.10.1.100:80 and has the following iRule associated with it:
when HTTP_REQUEST { if {[HTTP::uri] ends_with "txt" } { pool pool1 } elseif {[HTTP::uri] ends_with "php" } { pool pool2 }
If a user connects to http://10.10.1.100/foo.html, which pool will receive the request?

A. pool1
B. pool2
C. Non
D. The request will be dropped.
E. Unknow
F. The pool cannot be determined from the information provided.

Answer: D

NEW QUESTION 130
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Which two methods can be used to determine which BIG-IP is currently active? (Choose two.)

A. The bigtop command displays the status.
B. Only the active system's configuration screens are active.
C. The status (Active/Standby) is embedded in the command prompt.
D. The ifconfig a command displays the floating addresses on the active system.

Answer: AC

NEW QUESTION 133
Which parameters are set to the same value when a pair of BIG-IP devices are synchronized?

A. host names
B. system clocks
C. profile definitions
D. VLAN failsafe settings
E. MAC masquerade addresses

Answer: C

NEW QUESTION 135
Assuming other failover settings are at their default state, what would occur if the failover cable were to be disconnected for five seconds and then reconnected?

A. As long as network communication is not lost, no change will occur.
B. Nothin
C. Failover due to loss of voltage will not occur if the voltage is lost for less than ten seconds.
D. When the cable is disconnected, both systems will become activ
E. When the voltage is restored, unit two will revert to standby mode.
F. When the cable is disconnected, both systems will become activ
G. When the voltage is restored, both systems will maintain active mode.

Answer: C

NEW QUESTION 137
Refer to the exhibit.

How many nodes are represented on the network map shown?

A. Four
B. Three
C. One
D. Two

Answer: B

NEW QUESTION 141
Refer to the exhibit.
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A BIG-IP Administrator configures a now VLAN on an HA pair of devices that does NOT yet have any traffic. This action causes the assigned traffic group to fail
over to the standby device.
Which VLAN setting should be changed to prevent this issue?

A. Auto Last Hop
B. Fail-safe
C. Customer Tag
D. Source Check

Answer: B

NEW QUESTION 143
Which two statements are true concerning the default communication between a redundant pair of BIG-IP systems? (Choose two.)

A. Synchronization occurs via a TCP connection using ports 683 and 684.
B. Connection mirroring data is shared via a TCP connection using port 1028.
C. Persistence mirroring data is shared via a TCP connection using port 1028.
D. Connection mirroring data is shared through the serial fail over cable unless network failover is enabled.

Answer: BC

NEW QUESTION 146
A BIG-IP Administrator needs to modify a virtual server that web offload web traffic compression tasks from the target server.
Which two profiles must the BIG-IP Administrator apply to a virtual server to enable compression? (Choose two)

A. Server SSL profile
B. Stream profile
C. Persistence profile
D. HITP profile
E. Compression profile

Answer: DE

NEW QUESTION 147
The BIG-IP Administrator needs to perform a BIG-IP device upgrade to the latest version of TMOS. Where can the administrator obtain F5 documentation on
upgrade requirements?

A. AskF5
B. DevCentral
C. Bug Tracker
D. iHealth

Answer: A

NEW QUESTION 152

Passing Certification Exams Made Easy visit - https://www.surepassexam.com



Recommend!! Get the Full 201 dumps in VCE and PDF From SurePassExam
https://www.surepassexam.com/201-exam-dumps.html (254 New Questions)

A virtual server is defined using a source address based persistence profile. The last five connections were A, B, C, A, C . Given the conditions shown in the
graphic, if a client with IP address 205.12.45.52 opens a connection to the virtual server, which member will be used for the connection?

A. 10.10.20.1:80
B. 10.10.20.2:80
C. 10.10.20.3:80
D. 10.10.20.4:80
E. 10.10.20.5:80

Answer: B

NEW QUESTION 157
A BIG-IP Administrator is creating a new Trunk on the BIG-IP device. What objects should be added to the new Trunk being created?

A. Interfaces
B. Network routes
C. VLANS
D. IP addresses

Answer: A

Explanation: 
trunk is a portchannel, you need to add a physical interface.

NEW QUESTION 159
During a high-demand traffic event, the BIG-IP Administrator needs to limit the number of new connections per second allowed to a Virtual Server.
What should the administrator apply to accomplish this task?

A. An HTTP Compression profile to the Virtual Server
B. A connection rate limit to the Virtual Server
C. A connection limit to the Virtual Server
D. A OneConnect profile to the Virtual Server

Answer: B

NEW QUESTION 164
A BIG-IP Administrator needs to find which modules have been licensed for use on the BIG-IP system. In which section of the Configuration Utility can the BIG-IP
Administrator find this information?

A. System > Services
B. System > Resource Provisioning
C. System > Platform
D. System > Support

Answer: B

NEW QUESTION 165
A BIG-IP Administrator creates a new VLAN on BIG-IP Cluster Member A and attaches an Interface to it. Although the Auto Config Sync is in place, the new VLAN
does NOT show up on Cluster Member B. What should the BIG-IP Administrator do to ensure the new VLAN is configured on each Cluster Member?

A. Configure the new VLAN manually on Cluster Member B.
B. Reset the Device Trust of the BIG-IP Cluster on either Cluster Member.
C. Configure a Default Route for the new VLAN on Cluster Member A.
D. Enable the Interface that is attached to the new VLAN on Cluster Member A.

Answer: A

NEW QUESTION 166
A custom HTTP monitor is failing to a pool member 10.10.3.75:8080 that serves up www.example.com. A ping works to the pool member address.
The SEND string that the monitor is using is: GET/HTTP/l.l/r/n/Host.www.example.com/r/n/Connection Close/r/n/r/n
Which CLI tool syntax will show that the web server returns the correct HTTP response?

A. curlhttp://10.10.10.3.75:8080/www.example.com/index.html
B. curl-header 'Host:www.example.com' http://10.10.3.75:8080/
C. tracepath 'http://www.example.com:80
D. tracepath 10.10.3.75:8080 GET /index

Answer: B

NEW QUESTION 171
Which action will take place when a failover trigger is detected by the active system?

A. The active device will take the action specified for the failure.
B. The standby device also detects the failure and assumes the active role.
C. The active device will wait for all connections to terminate and then failover.
D. The standby device will begin processing virtual servers that have failed, but the active device will continue servicing the functional virtual servers.
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Answer: A

NEW QUESTION 176
A BIG-IP Administrator needs to restore a UCS file to an F5 device using the Configuration Utility. Which section of the Configuration Utility should the BIG-IP
Administrator access to perform this task?

A. Local Traffic > Virtual Servers
B. Local Traffic > Policies
C. System > Archives
D. System > Configuration

Answer: C

NEW QUESTION 180
New Syslog servers have been deployed in an organization. The BIG-IP Administrator must reconfigure the BIG-IP system to send log messages to these servers.
In which location in the Configuration Utility can the BIG-IP Administrator make the needed configuration changes to accomplish this?

A. System > Logs > Configuration
B. System > Configuration > Local Traffic
C. System > Logs > Audit
D. System > Configuration > Device

Answer: A

NEW QUESTION 182
Which two statements describe differences between the active and standby systems? (Choose two.)

A. Monitors are performed only by the active system.
B. Failover triggers only cause changes on the active system.
C. Virtual server addresses are hosted only by the active system.
D. Configuration changes can only be made on the active system.
E. Floating selfIP addresses are hosted only by the active system.

Answer: CE

NEW QUESTION 187
A BIG-IP Administrator needs to determine which pool members in a pool have been manually forced offline and are NOT accepting any new traffic. Which status
icon indicates this?
A)
B)
C)
D)

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 192
A BIG-IP Administrator is configuring a pool with members who have differing capabilities. Connections to pool members must be load balanced appropriately.
Which load balancing method should the BIG-IP Administrator use?

A. Least Sessions
B. Least Connections (member)
C. Fastest (node)
D. Weighted Least Connections (member)

Answer: D

NEW QUESTION 196
Which two statements are true about SNATs? (Choose two.)

A. SNATs are enabled on all VLANs, by default.
B. SNATs can be configured within a Profile definition.
C. SNATs can be configured within a Virtual Server definition.
D. SNAT's are enabled only on the VLAN where origin traffic arrives, by default.

Answer: AC

NEW QUESTION 199
A BIG-IP Administrator applied the latest hotfix to an inactive boot location by mistake, and needs to downgrade back to the previous hotfix.
What should the BIG-IP Administrator do to change the boot location to the previous hotfix?
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A. Uninstall the newest hotfix and reinstall the previous hotfix
B. Reinstall the base version and install the previous hotfix
C. Reinstall the previous hotfix and re-activate the license
D. Uninstall the base version and restore the UCS

Answer: B

NEW QUESTION 203
......
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